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"����-�1� �/d�-� � %��� �!� � �0h�� p(��% !��#% ��h����% �� �������� ���� ���2
� - � "#� �%#� q� ���%���� �(��% !��#� (���-��#� (! �rF �/��(���� &'�� � ����
%����� � �(����!����  (����������� ����2������ %����� $�c����2 �/d�-� (� %���
������2 (���- � ,%���� � ��% �����c���� �(��% !������ �������%���� (� -������2%
% -��%0% ����2������ �/� �0c���2 � � ������  (����������� ����2������ ��"%�c�
�� ��!�-� �!2 b-�(������ !���� �0�-��� �/� �0c���2� �!2 �0�-��� �/� �0c���2
��01�1� ��� �(��% !��#� ��h���2 (� 0- " ��#% -������2% �� ���( � &�� p(�� � 
��2"� ������ (���- � ������� �����% ���� .��$�� - 0- " ���� (��/!�%� � ��%�����
� ������ (�����( % -��%0% b����(��� �!2 ���0 ��� ���-�����1� � �(����!���2 (��
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����� ������������ ������� ������ %���*� � z*��������*�"{ %���"��
��� +��+���+ �����3��*� %���� %���*� �������*�5� �3s�*�� � "��� ��� �� �.[�& X"��
��� � ��" .2� � ��*���� ! �����! ��.��! ������ %���*� ����"���������� �"���� *�*
������ %���*� �����"����& ��%��"��S *��"� ���������� ! ����� %���*� ��������
*�! �3s�*��� � "��� ��� �� �.[� �& �*��� � 
& (������ n,o �������� * /��". *����.
��*�� ������ *�* ������+ � �" ��� %���*� �[�3�*S !������� � %���* ���� !S �������
*� "������2����� %����� ! ��*�%��" !S %�����*� ��%��������S *������� *�������
� ��& X [���*�" �" ��� ������ %���*� ��*�#������ � �����3��*� %���� %��.����+
���3!���"�� �����"����S "���"����.#$�5� �2����".# ���. �[�3*� � �5�������
���" �� *��������� ���!��.�" ! ���.����&

��% �*� ����� ����"���+�� "�2�. ������� �����"���� � ������� %���*� �"���
"���� �$� � �������� ~~ �&S ����*� ���.����� 3 �� %���".$�������� �����������
� "�& 8��� �� ���3���� �����! "����� � %��3��"� � �*���� �& 
���u z. . .�� %�!��
2�S ��� �.$����.�� �*���*����3.�� 3���*�+ ��+�� "�2�. ������� %���*� � �������
�����"����{S z. . .�����# %���*� ���3!���"� ���������� � �3$�� ������� ���������
���*�! ��[����S � �� � ������� �����"����{ n0S �& U-1o&

��!�2�+ ���*� �����+ �� %��3��". . w& �.%"���u z( ������� � �+�� ���+�����
����*�� ! 5����S *�5�� �����+ �����"���� � �����+ %���*� ����� %���"���" �3$�5�
��������S �������� %�% �*� ��%��������� �����# �����"���� � ������! ������ %��
��*�& ���.����� "�2�� %������� ��������� ��#$�"�u �� ���".� S �� *����%���
%����� ������ �� ��[�� "���� � �� .�.�[��� ��[���� ����� ������{ n4S �& ,4)o&
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X& w��*�� n)o %�*���� ��+ /*�%������������ �.�*��� �3���.2���+S ��� ���%���
������� %���*�� ! .�����S ��#$�� "�*��"." ����+������ �3���.2���+S "���"����
�.�� �����"������.# �������+#$.# �%����������5� ���%��������+&

�2& ���� n6o %����� ������ ��3�� %� ������ ��"�S � [��[�! � %����� � ,UJ1
%� ,U11 5&S � .*���� �� %��������������� %��.���� ! � ��! ���.�������& ������+
��3������ � �����3��*�S �� %��[�� * ��*�#����#S ��� ��+�� "�2�. ������� %���*�
� ������� �����"���� �������+ ���2���S �� ������+#$�� "���� ��+ �������[�!
������������&

x& �2���� � ��3��� nJoS � [��[�� � ,Uq, 5&S %�����5 *����*� �+� %���2����S
����2��� ! �2& �����"& ( ��"�5� ������ �� ��"���� ����������� 3���*�5� ����
���� ������ �����"���� �� ����*� � ������� %���*�S �� � � ������� �%��"�����5�
%����������+ � �#3�� %���"����� �3�����& ����� x& �2���� %����� %��"�� ��+�
�� "�*��"."� /����%�� � �%��"������ ������5��� %���*�S .*���� %�� /��"S ��� ��
+��+���+ �*���� �3.��#$�" %��"���"S ��" ������" � ����" ������������& X ����
�! � ����! x& �2���� �������+ ��%����"u z����". %����3������� �*��� ��������
��� %���� � !��� ��3�� �& ������� Rn1o i %��"& ������T ��+ ��5�S ���3 �����
��+�� "�2�. "�*��"."�" /����%�� � �%��"���� " %���*�"S ���"���+ �� ��S ���
"��5�� %���������� � ��� � % ������ ������{ nJS �& ,Jo& �� /��� ��%��� �� ����
����.#$�� �����u ��.������ � %��"������ %�����%� "�*��"."� /����%�� ��� ����
"�����"�*� ��*�#�����+ �� � �%��������� ���3.�" ! �5���������S � � %��������"
������� z%����������� 5�%����{S �� *�����" /����%�+ �%��������& X �����[���� �"
3 �� ��"�����S ��� %��3��"� �������+ ��*� ���S %��*���*. ������3����� ����� ����
��*�#$�! ����� 3��5�������&

(���"����� ������� ����.# �����# %���*�S �3s����+#$.# %�� ���"���" z%��
��*{ �����[���� �����%����� � ������ �� �3����� �����������+ �%������S ������
�����"����S "������ S *�"%�#���� ! ��.*S � ��*2� ������ .%�������+ � ������
�%��"������S ��+���� %��2�� ���5� � �& �������� nqoS � ��*2� � .������*�"� �������
��� %� �5� ���������� 5�.%% z
�������5�� %���*�{ �� V����� "�2�����%������ !
������������ R�>hT 
����������� w��������� � 0-,-p0-,0 55& ������������� � ��3���
������ 5�.%% "�2�� %��.���� �� nUoS 5�� ����2�� ���.����� 4J ������������ %�
���" ������ " ��%�������+"u �����+ �����"����S *�"3�������*� � �����+ %���*�S
� ��*2� %�������� �3[����+ 3�3���5����+ %� ������ %���*� � [���*�" %���"��
��� �& ��������& X"���� � ��" ��3�� � ����"���+�� %�����%� "�*��"."� /����%��
� ������� %���*�S � [��[�! %���� nJoS ��" ����� ��* � �� .������&

�����+$�+ �����+ +��+���+ ������� " [�5�" � .����������� z�������{ ������
�����"���� � ������� %���*� � �� z*��������*��{ ���*���*� �����������+ �%������&
X ��� ����"���������+ �� 2� ������S ��� � � n6S JoS i � ����� �� ���3���� z�"���� !{
��3�� %� ������ %���*� n,-o ��� ������� z�������� ������� ������ %���*�{& V���
������ i %�*�����S ��� � ��"*�! ������ �����"���� .*������+ ������ "�2�� �"���
.������������ � 3���� %������ ��[����S %� *������ "��� ��+ ��.��+ ���*�����5�
���%��������+&

X %& 0 *���*� �%���� ������ %���*� � z���������� �{ ��5����" �� ��[���+
n,,o& X %& 4 �� %�����" %��"��� Rz������ � ��.! [*���!{T ����"������ ���� �� %���
��������� ������ %���*� � %�*����� ���"�2����� ��%���������+ �.�*��� /����%��
� ������ %���*�& X %& ) ������ %���*� ����".�������� � ���*� �����+ ������ ������
"����&
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��+S %���+� � � n,,o& 83s�*� %���*� �"��.���+ *�* z����{S .������* %���*� i z���
3�#������{S � %���"���S *���� � ���2�� 3 �� ���%�������S i z%���*�� � .����+{&
����%���5����+S ��� �������� �%������� ���*������ ���%���������S %�*�� ��#$��
���%��� ��[�� .���������� � "������!�2����+ ���� i ����+�������� ���%���������
�� *������" "��2����� �� n +���*S ��� ���"�� �3�����# J & r����� %���%���5���S
��� ���� "�2�� ��!������+ ����*� � ����� �� +���* j � ����+������# pjS j = 1, . . . , nS∑n

j=1 pj = 1& ��+ *�2��� +���*� j �.$����.�� VQ��W�� �
���QS���� b(zj)S %����
�����+#$�+ ��3�� .�����.# ����+������ �3���.2���+ ���� � +���*� j %���*�� "�
.����+"� �3s�"�" zj %�� .������S ��� ���� ��!�����+ � +���*� j&

��%���������� "�2�� .��� �����+ VQ��W��  ����� �� cjzj S *�����+ %�*�� �
���� z����"����{ %����2���+ .����� �3s�"�" zj � +���*� j& t���� cj = 1S �& �&
z����"����{ �5�����������+ �3s�"�" %����2��� ! .�����S ����� n6S Jo �������
��* 2�S � " %�����.�" �! %��"��.&

���� ��� �� i /�� �.�*��+ ���%��������+ %���*�� ! .����� f S *�����+ �%���
���+�� *��������� %���*�� ! .����� zj S ���%�������� ! � +���*. j& �.��� F i /��
"��2����� �.�*��� ���%��������+ %���*�� ! .�����& ��+ �.�*��� ���%��������+
f "�2�� � ������� ����+������ �3���.2���+

P (f) =

n∑
j=1

pjb(zj) R,T

� ���3.�"�� R�����!���������T *��������� %���*�� ! .�����S ��� �� Q� ��� ���C�
Q ���= C(f) =

∑n
j=1 zj & �.��� M > 0 i /�� �5��������� �� ���.�� %���*�� !

.�����& ��5�� %���*�� � %��� f∗ ∈ F +��+���+ �%��"���� " ��+ ���.��� M S ����
C(f∗) �M S � P (f∗) � P (f) ��+ ���! f ∈ F %�� .������ C(f) �M &

8%��"������ ���%��������� ��+ /*�%������������ �.�*��� �3���.2���+ �%���
� � 3 �� ������� � n,0S ,4o& X n,)o ���.����� S %��.���� � � n,0S ,4oS �3�3$�� ��
�#3.# �.�*��# �3���.2���+ %�� .������S ��� ��� �"��� .3 ��#$.# %��������.#&

�.��� b(zj) i %���2�������+ � ��%��� ���+ �.�*��+ �� ]
 b́(zj) i %���������+

�� b(zj) %� ]
 %����" 0 < b́ (zj) < b́(0)v � n,,o ��*�+ �.�*��+ �"��.���+ Q
C��?R�=
VQ��W��= �
���QS����& (������� .3 ��#$�� �.�*��� !���*���� ��+ 3���[���
���� �.�*��� �3���.2���+S ��%��"�� ��+ /*�%������������S ���S ����"�S � +��+���
�+ �������� %�������S %� *������ ��[���� ������ ������ ������� ����*� ��+ �.�*�
��� /��5� ����&

7.�*��+ p (zj) = b́ (zj) pj ������� � nUo zVQ��W��= ������� �̂ X n,)o %�*�����S
��� �%��"������ ���%��������� %���*�� ! .����� �����5����+ � ��" ��.���S *�5��
� +���*�!S 5�� � %���+���+ %���*S �.�*��+ ��*��*� %����"��� ���� � �������+&

X n,-o �����+ �%��"���������+ ������ �%��� � ��[��� � ��%����������" "�����
"��2������ ��5���2� ��*2� ��+ .3 ��#$�� �.�*��� �3���.2���+& ��[���� %����
%���5���S ��� ��+ *�2��5� ��������5� %����$���+ %����2��� ! %���*�� ! .�����
��*��* λ 3.��� ����� ��+ ���! +���*S 5�� ������+ %���*S � "���[� ��� ����� ��+ ��!
+���*S 5�� %���*� ���& w �� ��*�����S ��� ���� l (zj, λ) = b (zj) pj −λzj i ���*�����+
�.�*��+ ��5���2� ��+ j = 1, . . . , nS zj � 0S � λ > 0S �� %���*�� � %��� f∗ ∈ F S
*���� � "�*��"����.�� �.�*��# ��5���2� ��+ ���! j = 1, . . . , nS �%��"���� ��+
���.��� C(f∗)&

���%��������� f∗ i /�� %���S �%��"���� � ��+ ��*���������5� �������+ ���.��
��S ��%��"�� ���"��� %���*�& t���� ��3�#������ �� ����� �����5� ���"���S � ������
��5� �� %���*& X /��" ��.��� 3 �� 3 2��������� %��.���� ���%��������� �� ���"���
� %�����������S �3��%�����#$�� "�*��"." ����+������ �3���.2���+ � �#3�� ���"+
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%� "��� ������+ %���*�& ��+ /��5�S ���%������� %��� f∗ �� ���"��� ����������.#�
$�" �3����"S %��.��" ��* ��� ���" � z�����"���� �%��"���� � %���*�� � %���{
n,,oS ������.�" � �� ���"���S *�* .*����� �����& �� %����" /��%� %���* ���������+
� +���*� ,S �"�#$�� ���3���[�� �������� ����+������ p1 ��!�2����+ ���� � ���S
� %�����2����+ ����*� � /��� +���*� .����+"� z11 �� ��! %��S %�*� ����+������
��!�2����+ ���� � +���*� , ."���[���+ � ������ ����� ����+������ p2 ��!�2����+
���� � +���*� 0& X ��*�" ��.��� ����+������ p1 ."���[���+ �� �������. δp1 = b(z1)p1
� ������ ����� q1 = p1 − δp1 = (1− b (z1)) p1 = p2& �� �����" /��%� %���* �!��� ����
.2� +���*� , � 0 ��*�" �3����"S ��� ��%��������� � .����+ z12 � z22 � +���*�! ,
� 0 .���������+#� .�����# b́ (z12) p1 = b́ (z22) p2 ��+ �3��%�����+ ��������� ��������
�.�*��� ��*��*�& ��*�" 2� �3����" %���* %�����2����+ �� ��! %��S %�*� �� ��
�!����� +���*. 4 R������ /��%S .����+ z13S z23S z33TS � ��* %����!���� �� ��! %��S
%�*� ���� �� 3.��� �3���.2��� ��� ���.�� C(f∗) �� 3.��� %�������# ���%�������&
�%����������+ ����+������ ��!�2����+ ���� � ��! +���*�!S 5�� %���* �� � %���+��
�+S ���2�� 3 �� "���[� ��� ����� �������+" � ��! +���*�!S 5�� %���* %��������+
� *���� �S � ���# �������S ���2� 3 �� ���� "�2�. ��3��& ����"������ � ��5��
���" %��.����+ z�����"���� �%��"�����5� %���*���5� %����{ " 3.��" ��� ����
z���������� " ��5����"�"{ � ���. �5� [���*�5� ��%���������+&

(� '�
��� � 
�%� G!����� X n,-S ,,o �%���� ������� ��[���+ ������� !
����� %���*� � %�"�$�# �����������5� ��5����"� � ����*� ��+ .3 ��#$�! �.�*�
��� �3���.2���+& �������������S �"���� /�� �.�*��� ��%����.#��+ � 3���[������
������ ! ����� %���*� �������*�! �3s�*���& ���"� ��5�S ����*� %�� ��3�#�����
.�����+ 0 < b́ (zj) < b́(0) � %���+���+ ������[����S +��+#$���+ ������� �%��"����
��5� ���%��������+ %���*�� ! .����� %� *������# "�*��"."� ����+������ �3���.�
2���+u

pib (zi) + pjb (zj) > max (pib (zi + zj) , pjb (zi + zj)), R0T

5�� max (pib (zi + zj) , pjb (zi + zj)) i ���3���[�� �� �������� � �*�3*�!& 8���*� %��
����"������� ������ %���*� � 3���� [���*�" �" ��� *�* %���*� �����"���� ����
�����5� ���� "�5.� �"��� "���� �.�*��� �3���.2���+S ��+ *���� ! .������ R0T ��
� %���+���+& ��[�" ���. �� ��*�! ����� �� %��"��� �������&

����%���2�"S 5�.%%� ��������� ���3!���"� �3��������� n [*����S �����2�$�!
%��"���� �����*���� ����� *��5 ��� %�%�*S �3s�*��" %���*� +��+���+ ��*���� �
���5"��� ��*��� � ����� �� ��!& X���+������ ��5�S ��� �3s�*� %���*� ��!�����+
� *�2��" �� [*����S ����� pj S j = 1, . . . , nS

∑n
j=1 pj = 1& X��"+ ������� �5��������&

���� ���*���*� �%���3�� ��[���+ ������ ������& ���� � �%���3 i %���"�����
���� *��5� � ��.�����" %��+�*�S % ��+�� �3���.2��� ��*�" � ���5"���& X�����
�%���3 i ������ *�2�.# *��5. %��������������S �������. �� ���������& �S ��*����S
���"�2�� ������ �%���3 i *����*��� � %���*S �& �& %���* � ��%����������" ��%�����
������� �����"����u /�� "�2�� 3 ��S ��%��"��S �%��� ��*."�����S �����2�$�!�+
� [*��.S ��� �����"���+S %��.�����+ � !��� �����+ � %�� [�#$�+ ���%��� �����
��"�������� ��3�#�����+ � ���"�2��" "������!�2����� ��*�"�5� ���5"����&

�� �������� 3.��" �"������� �������� ��3�#������"S ������# i %���*�"S
[*�� i +���*��S � �3s�*� %���*� i ����#& ��5�� ����+������ �3���.2���+ ���� ��+
*�2��5� �� �%���3�� %���*� "�2�� �%�������� ����.#$�" �3����"& �.��� t0 i /��
"���"������*�� �2������ ���"��� %����5� �3���������+ ����� +���*�S tj i ���.��
���"���S � ������ � �� %���* � j�� +���*�S T i �3$�� ���.�� ���"��� �3��������
��+ ���! +���*S

∑n
i=1 tj � T & r���� %���%���5����+S ��� ���.�� ���"��� ��"��+���+

4- � %��&� �
"�
� 
!&�9�)��, 6�� 6��&��� ��8(!6��&����� ?.?/� �� ��� ���� �



� ������*������!S �& �& ���.�� ,- � ��������S ��� �� ���. � �. 2� ��3��. � ����� 
��� ��3�#�����+ �� 6 � ��� %+�� ��3�#������� �� 0 �&

83������" %���*���� .�����S ���%���������� �� %���* � j�� +���*� *�* zj =
tj
t0
S

∑n
i=1 zj = CS � ����+������ ���%��������+ ��*�"�5� ���5"���� %�� ��*� ���

�.2��� ������� *�* k � 1&
��5�� ��+ %����5� �%���3� %���*� .������+ ����+������ �3���.2���+ �����

b (zj) = 1−
(
1− kzj

l

)l

, R4T

5�� l i ����� z%���"�����{ ��*��� �� ���"+ tj &
�����+ ������"���� ����������.�� %�*���������� �.�*��� �3���.2���+& ����

�������� l "���S �� ��*�� %���* ��� �����+ z���*���� "{& X *����*��� ������� ���
�����. l "�2�� �����%���������� *�* *��������� ��.���� ! � 3���* ��*."�����S
���3���� ! ��+ ��.����+& ���� 2� �������� l ����*�S �� %���* ��� �����+ z��%���
� �� "{S %�� /��" �.�*��+ �3���.2���+ %����"��� ���

b (zj) = 1− exp(−kzj), R)T

�& �& ����������.�� /*�%������������ �.�*���& 8�� ��%����.���+ � ������ %���*�
���3���� �����&

��� �����" �%���3� %���*� .������+ ����+������ �3���.2���+ %�+"� %��%���
��������� �������" %���*���5� ���.���u

b (zj) = kzj , zj � 1, R6T

�& �& �.�*��+ �3���.2���+ b (zj) +��+���+ ��������& ��� %���*� �������*�! �3s�*�
��� ��*�+ ���.���+ �����*��� � ��.���S *�5�� �#3�+ ���*� �3����� %���*� �3����.���+
3�� z%���*� ���{ %���*�� ! %����S �& �& ����*�����&


�����.# ����+������ �3���.2���+ %�� %���*� ������" �%���3�" "�2�� �%���
������ ���%����� �.�*���� ����

b (zj) = krzj
r, zj �

1
r
√
r
, RJT

5�� r � 1 i ��*���� � %�*�������S �%�����+#$�� �*������ ���������+ z�����"����
��������{ ��3�#�����+ %� "��� %���*�& ��� %���*� �������*�! �3s�*��� %���3��+
�.�*��+ �3���.2���+ �"��� "���� � ��.���S *�5�� %� "��� ������+ %���*� %��$���
�3����� ���"�2��5� ��!�2����+ ���� ."���[����+ ���������S ��%��"�� %�� %���*�
%� �%�����S �!��+$���+ �� *���� �3����� %���*� * �� �����.&

���� r = 1S �� ���%��� �����"����������� ��3�#�����+ � "������!�2�����
���� %� "��� %���*� �� ����������& 
�2�� ������S ��� ��5�� �.�*��� �3���.2���+
��+ �����5� � ������5� �%���3�� ���%���#�S �& �& ������ �%���3 +��+���+ ����� " ��.�
���" ������5�& ��/��". �����S ���� ��� ��%��������� ! .*������S 5����+ � ���%�����
�.�*��� �3���.2���+S 3.��" �"��� � ���. ��*2� � ������.# �.�*��# *�* ����� �
��.��� ���%����� ��+ r = 1&

���*���*. .��� �����+ ����+������ k � 1 ���%��������+ ���� %�� ��*� �
��� �.2��� ������� S ���"�2�� ���.���+S *�5�� %�� %����" �3���������� +���*�(
zj =

1
r
√
r

)
�3s�*� �� 3.��� �3���.2��& ��5��S ���� %�����.�� %���*� %�����+���+

������S �& �& ���� zj >
1
r
√
r
S .�����.# ����+������ �3���.2���+ "�2�� � ������ %���

3��2����� ���".���

b (zj) = 1− (1− k)
zj r

√
r
, R1T

� %��&� �
"�
� 
!&�9�)��, 6�� 6��&��� ��8(!6��&����� ?.?/� �� ��� ���� � 4,



%�� /��" �.�*��+ �3���.2���+ ���������+ .3 ��#$��S *�* � %�� %���*� %��� "
�%���3�"&

C��� <� s0�-��� �/� �0c���2: (�- " ��!�� 2 Z<\F b-�(������ !�� 2 Z=\F
q!�������(�- " ��!�� 2r Z>\ � q(�- " ��!�������(��� 2r Z?\

�� ���& , %���������� 5����*� �.�*��� �3���.2���+ ��+ k = 0.8u
• (b1(z) i %�*���������+ �.�*��+ R� ��2���� R4TTS l = 3 R*����+ _ Tv
• (b2(z) i /*�%�����������+ �.�*��+ R� ��2���� R)TT R*����+ ` Tv
• (b3(z) i �������+ �.�*��+ R� ��2���� R6TT %���!���� � %�*��������.# %��

z > 1 R� ��2���� R1TT R*����+ a Tv
• (b4(z) i ���%����+ �.�*��+ R� ��2���� RJTTS r = 2 %���!���� � %�*��������.#

%�� z > 1
r
√
r
R� ��2���� R1TT R*����+ b T&

���*�������.�" ����"�������".# �����.& �.��� *��������� +���* n = 2S �%���
����+ ����+������ ��!�2����+ ���� � ��! ����� �������������� p1 = 0.55S p2 = 0.45&
X��"+S ���3!���"�� ��+ %����5� �3���������+ ����� +���*�S t0 = 100 �S ���.�� ����
"���S � ������ � �� %��������� %���*�S i ,0- �& ��� ��*� ��� �.2��� ������� 
���� 5������������� ���%�������+ (k = 1)&

��* %�*����� � [�S ���������� � ��5����" %���%���5���S ��� z�.�*��+ ��*���
*�{ p (zj) = b́ (zj) pj ���2�� 3 �� �����*��� �� ���! +���*�!S 5�� � %���+���+ %���*&
��5�� %�� %���*� %��� " �%���3�" %���* ���������+ � +���*� , � %�����2����+ �����
*� � ��� � ������� z1 = 20 �S %���� ��5� ����+������ p1 ."���[���+ � ������ �����
p2S (1− b (z1)) p1 = p2& r���" %���* ���%�������+���+ �� +���*. 0S � %�����.#$��
.����+S %����5��" � * �3��" +���*�"S ���+��+ %�����.S �& �& %� 6- � �� *�2�.#S
� ����# �3��%����� ��������� �������� z�.�*��� ��*��*�{&

�� ��+ �������� �.�*��� �3���.2���+ %���������+ %� zj �� �.�*��� �3���.�

2���+ b́ (zj) = kS � ��+ ���%����� �.�*��� b́ (zj) = kr2zj
r−1& �� /��5� ����.��S ���

� ��2���� R0T ��+ .*����� ! �.�*��� %����"��� ��� pib (zi)+pjb (zj) � pib (zi + zj)S
5�� ����5�� ��������� ����������.�� �������� �.�*���& ��5�� � .����" R,T "�2�� ���
*�#����S ��� ��+ ���� ! �.�*��� "�*��"." ����+������ �3���.2���+ �����5����+
%����2����" ���! %���*�� ! .����� * ��� +���*�S 5�� �������� pj +��+���+ ����
3���[��& ��5�� b (zj) �����5��� �������+ kS %���*�� � .����+ ���3!���"� %�������
%�������� � +���*.S 5�� pj �"��� ����.#$�� ��������S � ��* �� %����5� �����!����
����+ %���*���5� ���.���& ����%���2�"S ��%����������+ �����"���+ ���.����.��

40 � %��&� �
"�
� 
!&�9�)��, 6�� 6��&��� ��8(!6��&����� ?.?/� �� ��� ���� �



(r = 1)S �& �& %���* ������+ ���� " �%���3�"& ��5��S ��5����� �����". ��5����".S
� ������� %��� ! ,-- � ���3!���"� �3��������� +���*. ,S � �����[���+ 0- � i +����
*. 0& ���� ����� ,-- � %���*� ���� � +���*� , �3���.2��� �� 3.���S �%����������+
����+������ �� ��!�2����+ � +���*� 0 ������ ������ ,S �� �� �3���������� +����
*� 0 ��������+ .2� ����*� 0- �& � /�� � .����" ��5�S ��� ��!����� ������[����
�%����� ! ����+������� �������+�� -&66�-&)6S �& �& [��� �3���.2��� ���� � �#3��
�� +���* 3 �� %��*�����*� ���� "�& ��5�*� %���*�� ����S ��� ��*�� ���%���������
%���*�� ! .����� �� "�2�� ��������+ �%��"���� "S ��2� ���� � ������������ � ����
".��� R,T ��� ���� ���3���[.# ����+������ �3���.2���+& ���*���*. � ������ �
%���*�� � ���.�� �� %�����+�� �3��������� �3� +���*� %�������#S 3���� %���%�����
����� " %��������+���+ ��*�� ���%��������� %���*�� ! .�����S ���3 z��������{
�����"����S *�����+ � �3��! +���*�! ��������+ ���3�����������S 3 �� �����*����&
X ���"���! ������ %���*� /�� ��������S ��� �������+ �%����������� ����+������
��!�2����+ ���� � ���3����������� ����� *�2��� �� +���* ���2� 3 �� ���� &

��[��� ��*.# �����. "�2�� ����.#$�" �3����"& X ������������ � .������"
��+ %����5� �3���������+ �3��! +���* �� !������ 2 · 100 − 120 = 80 �& ( .����"
�%������� ����+������ ��!�2����+ ���� � ��! "�2�� ��%����� p1x = p2(1 − x)S
x = 0.45& ��5�� �������#$�� q- � ����.�� ���%�������� "�2�. +���*�"� ����.#$�"
�3����"u 0.45 · 80 = 36 � �� +���*. , � 80 − 36 = 44 � �� +���*. 0& ��*�" �3����"S
%���*�� � .����+ ���2� 3 �� ���%������� ��*u 100 − 36 = 64 � �� +���*. ,
� 100− 44 = 56 � �� +���*. 0&

8���*� ���� � %��� 5������ ����*� � ���%��������� %���*�� ! .����� � %���
���������S �� �� �� ���"���& ���"� /��5�S ��3�#������ "�5.� � �� ����� �����5�
���"���S � �������5� �� %���*& ��/��". �����*��� %����3����� � ����������� ���
*�5� %���� ���%��������+ %���*�� ! .�����S *���� � �3��%������� ��������� �%��
���������� ����+������ ��!�2����+ ���� � ���3����������� ����� *�2��� �� +���*
� *�2� � "�"��� ���"��� %���*�& ��+ /��5� ���*���*� .���2��" .�����+ %���*�
� ����"����" .*����� � %��� ��+ ������� ! �.�*��� �3���.2���+& X ������� ��
%��� �.$�5� %��"��� i ��*�#�������� ��+ ��5�+������ 5����*�� i 3.��" �������S
��� �%����� � ����+������ ��!�2����+ ���� � +���*�! ���� p1 = 0.75S p2 = 0.25S
����+������ ���%��������+ ���� k = 0.7S %���*�� � ���.�� �� �5�������&

�� ���& 0S L %���������� 5����* ����+������ �3���.2���+ ���� ��+ /*�%�����
�������� �.�*��� �3���.2���+& ���� ���%��������+ %���*�� ! .����� �������
� ��"S ��� �� %����" /��%� %���*�� � .����+ � �3s�"� z0 ���%�����+#��+ � +���*.
,& ����� %����2���+ * +���*� , %���*�� ! .����� �3s�"�" z0 = 1.57 �%����������+
����+������ ��!�2����+ ���� � �3��! +���*�! ���������+ �����*����. ���� ���� ��
3.��� �3���.2���S �� �����[���+ %���*�� � .����+ ���%�����+#��+ "�2�. +���*��

"� %�����.S z1(C) = z0 +
(C−z0)

2 S z2(C) =
(C−z0)

2 & ���� %���+�� C = 3S �� z1 = 2.28S
z2 = 0.71S ����+������ �3���.2���+ ���� � �3��! +���*�! b (zj) 3.��� �%�����+���+
� ��2����" R)T& �%����������+ ����+������ ��!�2����+ ���� � +���*�! "�2�� 3 ��
�%�������� %� ���".��

ṕj =
pj(1− b (zj))

1−
∑n

j=1 pj
b (zj) , RqT

��+ �����5� %��"��� j = 1, 2, n = 2& �� ���& 0S L
 
 %�*����� ��"������ �%�����������
����+������ %� "��� ���������� %���� %���*�&

� %��&� �
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� 
!&�9�)��, 6�� 6��&��� ��8(!6��&����� ?.?/� �� ��� ���� � 44



C��� =� ��!��� 2 ����2������ �/� �0c���2 �  (��������� 2

����2������ � $�c����2 ��!� � 2���- $ � � 	

�7 D X b(z1)+ f X b(z2)n 
 7 D X ṕ1+ f X ṕ2� $ X 8#��-&, ("��!#h �&, ��%�(� �-&�95��,n

$$ X 8#��-&, ("��!#h �&, �(��:�� 95��,+ �9�� �(&%�� i��%�(� �-&�95��'jn

$$$ X 8#��-&, ("��!#h �&, �(��:�� 95��,+ �9�� �(&%�� i!�*�(6 !�( (��&6�95��'jn

$% X 8#��-&, ("��!#h �&, 9&� '��,+ �9�� �(&%�� i!�*�(6 !�( (��&6�95��'jn

% X 8#��-&, ("��!#h �&, �(��:�� 95��,+ �9�� �(&%��

i!�*�(6 !�( (��&6�95��'j�

4) � %��&� �
"�
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D��E��E�� A��� =�

���� � %���*�� � %��� +��+���+ �����"���� �%��"���� "S �& �& �3������ ����
�.#$�"� ��������"�u %� "��� ������+ %���*� ���� "�*��"." ����+������ �3���.�
2���+ ���� R,T � ��������� �%����������� ����+������ ��!�2����+ ���� � +���*�!S
5�� ������+ %���* n,-S ,,o& �������� ��[���+ ���� ��������� ��������5� �������� /*��
%������������ �.�*��� n,-ou ���� h i "���� %����$���� %���*�� ! .�����S ��5��
����+������ �3���.2���+ ���� .����+"� z + h %�� .������S ��� ��� �� 3 �� �3���

�.2��� .����+"� zS ����� P = (b(z+h)−b(z))
(1−b(z)) = 1 − e−h& ��*�" �3����"S ����+������

�3���.2���+ ���� .����+"� h �� ������� �� *��������� %���*�� ! .�����S ���������
� ! �� %���*& ��������S ��� /*�%�����������+ �.�*��+ i �����������+ �� �.�*���
�3���.2���+S �"�#$�+ %���3� � z���������* %�"+��{&

X��[�� 5����* ����+������ �3���.2���+ ���� R���& 0S LL
 �T 3.��� %�!�2 �� ���
���"��� � 5����*S ���3��2��� � �� ���& 0S L R������� ����*� � ��"S ��� z0 = 1.31TS
�� ��"������ �%����������� ����+������ %� "��� ���������� /��5� %���� %���*�
R���& 0S LL
 
T 3.��� .2� �.$�������� ���������+ �� %������������5� �� ���& 0S L
 
 i
��������� ṕ1 � ṕ2 �� %��.�����+&

�����"���� �%��"���� � %���*�� � %��� ��+ %�*���������� �.�*��� �3���.�
2���+ 3.��� .2� ���2���S ��" ��+ /*�%������������& x��� %��� ��*2� %���%���5���S
��� �� %����" /��%� %���*�� � .����+ � �3s�"� z0 = 1.31 ���%�����+#��+ � +����

� %��&� �
"�
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*. , R���& 0S LLL
 �T& 8������ ��*�#�����+ � ��"S ��� �����[���+ %���*�� � .����+
���%�����+#��+ "�2�. +���*�"� .2� �� %�����.& 7��".� ��+ � �������+ zj %���

".� ����.#$�� ���u z1(C) = z0 + (C−z0)

(1+ l
√

3)
S z2(C) =

l√3·(C−z0)

(1+ l
√

3)
S ��+ C = 3 %��.��"

z1 = 2.0S z2 = 1.0& ��"������ �%����������� ����+������ %� "��� ���������� /��5�
%���� %���*� %�*����� �� ���& 0S LLL
 
&

y����*� ����+������ �3���.2���+ ���� ��+ �������� R� ��2���� RJTS r = 1T
� ���%����� R� ��2���� RJTS r = 2T �.�*��� �3���.2���+ %���������� �� ���& 0S
L*
 � � ���& 0S *
 �& ����*�� � %��� ��+ /��! �.�*��� ��*2� %���%���5�#�S ���
�� %����" /��%� %���*�� � .����+ � �3s�"� z0 ���%�����+#��+ � +���*. ,& �����S
���� C � C0S C0 = z0 +

1
r
√
p1r
S �� ���%��������� %���*�� ! .����� zj S �3��%�����#�

$�� ��������� �%����������� ����+������ ��!�2����+ ���� � +���*�! R���& 0S L*


 � ���& 0S *
 
TS 3.��� �"��� ��� z1(C) = z0 + p2(C − z0)S z2(C) = z0 + p1(C − z0)S
���".� ��+ � �������+ b (z1) = krz0

r + p2kr(C − z0)
r
S b (z2) = p1kr(C − z0)

r
& ����

C > C0S �� �����[���+ %���*�� � .����+ ���%�����+#��+ "�2�. +���*�"� %�����
�.S �.�*��+ �3���.2���+ ���������+ %�*���������� R� ��2���� R1TTS ���%���������

%���*�� ! .����� zj 3.��� ��*��u z1(C) = z0 +
p2

r
√
p1r

+ (C−C0)
2 S z2(C) =

p1
r
√
p1r

+ (C−C0)
2 &

���� C = 3S �� ��+ ���%����� �.�*��� Rr = 2T z0 = 0.57S z1 = 1.58S z2 = 1.42&
��+ �������� �.�*��� Rr = 1) � �������+ ����������� .%��$�#��+S %��*���*.

�������� C0 ���5�� ����� *��������. +���*& ���� C � C0S �� �������+ zj ���� 

"�2�. ��3�� ��+ �#3�5� ���%��������+ pju z1(C) = z0+
p2

p1
+ (C−2)

2 S z2(C) = 1+ (C−2)
2 &

��%��"��S ��+ C = 3 z0 = 0.67S z1 = z2 = 1.5&
����� ��� 3.��� ������������ ����.#$�� ��%���u *�* ���+�� .������ ���������

�%����������� ����+������ ��!�2����+ ���� � +���*�! %���*� ṕj R� ��2���� RqTT ��
�������� %�*������� /���*�������� %���*� i ����+������ �3���.2���+ ���� P (f)
R�"& R,TT&

����"����" /��� ��%��� ���3���� ��5�+��� p �� %��"��� �������� �.�*���& ��*
%�*����� � [�S %�� C = 2 .������+ ����+������ �3���.2���+ ���� b (zj) � +���*�!
3.��� �����*���� � ������ kS ���� 2� C > 2S �� �.�*��+ �3���.2���+ ���������+ %��
*����������S � %���*�� � .����+ ���%�����+#��+ "�2�. +���*�"� %�����.& ��/��".
� ���*� �����+ ������ ������ ��� 3.��� ������������ ����*� .�����* C � 2&

����"����" ��� %���� ���%��������+ %���*�� ! .����� fi& ���� � %��� f1 ����
���.�� *������� "�*��"."� ����+������ �3���.2���+ ���� R,T � ��%����������"
�����������5� ��5����"�& ��* %�*����� � [�S ��+ �����2���+ "�*��"."� ����+��
����� R,T ���3!���"� �� %����" /��%� %���*�� � .����+ � �3s�"� z1 = 1 ���%��������
� +���*. ,S %���� ��5� �����[���+ %���*�� � .����+ � �3s�"� z2 = C − z1 = 1 ����
%�������� � +���*. 0& ���.��* 4S L
 � ���#�����.�� 5����* ��"�����+ .����� !
����+������� �3���.2���+ ���� b (zj) � ����+������ P (f1) � !��� ���������� %����
f1S ���& 4S L
 
 i ��"�����+ �%����������� ����+������ %� !��. ���������� %���� f1&

X ���# �������S %���*�� � %��� f2 ������.�� *������� ��������� �%�����������
����+������ ��!�2����+ ���� � +���*�! %���*�S ����������.#$�� 5����*� %�������
� �� ���& 4S LL
 �
 
&

(�������� ���& 4S L
 � � ���& 4S LL
 � %�*�� ����S ��� ���� ����+������ �3���
�.2���+ P (fi) ��+ %����5� %���� %����!���� 3 �����& ��%��"��S ���� C = 1S ��
P (f1) = 0.525S P (f2) = 0.438& 8���*� �� ���& 4S L
 
 � ���& 4S LL
 
 ��*2� ����.��S ���
��+ %���� f2S ������+ � z0 = 0.67S � %���+���+ .������ ��������� �%����������� ���
��+������ ṕj ��+ �#3 ! �������� C � z0S � �� ���"+ *�* ��+ %���� f1 /�� ���������
�"��� "���� ����*� %�� C = z0&

4J � %��&� �
"�
� 
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C��� >� ��!��� 2 ����2������ �/� �0c���2 Z�\ �  (��������� 2 ����2������

� $�c����2 ��!� � 2���- $ � � 	 Z#\ Z�0�-��2 �/� �0c���2 !����� 2\

�7 D X b(z1)+ f X b(z2)+ g X P (f)n 
7 D X ṕ1+ f X ṕ2n $ X �9�� �(&%�� f1n $$ X �9�� �(&%�� f2�

X����*��� ��%���u ���� %��� %���*� �� "�2�� .���������+�� ��." *������+"
�������"����S *�*�". �� ��! ����.�� ������ %���%�������� t�� ��2��� �3��%�����u
"�*��"." z����+������ .�%�!�{ P (f) �� ������ ��*�#�������� �%������� ������
"���� � ���� ��� ������������� z���������� �����"����{ � ��� R����� ���������
�%����������� ����+������ ṕjTS ��"��+#$���+ %� "��� ������+ %���*��

( .����" %�����%������� �����"�2����� �����[���+ �����5� %����������+
��+ 3���[������ �.�*��� �3���.2���+ ���������+ z������������� ���������� ���
���"����{ ������+ 3���� ����2��� ������� ��+ %����������+ %���*�& X ������
���.���� ���%��������� %���*�� ! .����� � ����*. /���*�������� %���*� �.2��
� %���+�� � ��%����������" ���� ! *��������u ���%��������� %���*�� ! .�����
%���������� %� *������# ��������� �%����������� ����+������ ṕj S � ���.����� /���
5� ���%��������+S �& �& /���*�������� %���*�S ��������� ����+������# �3���.2���+
P (f) R��+ /*�%������������ �.�*��� ��[���+ %� /��" *������+" ���%���#�T&

8���*� ����� �����*��� ����.#$�+ %��3��"�& r����� �%��"������ %���*�� !
.�����S *�* � 3���[������ ����� �%��"������S ��������+ * ����. /*����"���� !&
� ���� �.�*��+ P (f) �"��� /*����"."S �� ��������� �������� ṕj S ��%�����S %���%��
��5��� �5� ���.������ ��� ������"���� �� ��5�S ��"������#��+ ��� n +���* ��� ����*�
����� �� ��!S �"��� "���� .������

∑n
1 pj =

∑n
1 ṕj =1& 
�2�� %�*�����S ��� ���� ��*�

�������� � %���*�� � ���.�� M ���%�����+���+ ��*S ��� �������+ �%�����������

� %��&� �
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����+������ ṕ∗j = ṕj(z
∗
j ) �� ���! +���*�! �3����� %���*� ���� S �� �.�*��� ṕj(zj)

�"�#� "���"." � ���*� z∗j ����*� ��+ /*�%������������ �.�*��� �3���.2���+&
����������� .*������� %��3��" ���"�2�� %.��" ��%���������+ � *������� ���

����� �.�*��� ��*������ �.�*��� F S *�����+ .���������+�� 3 �+�. ���3!���" !
���
�����=S ���S �����S �3������ �+��" ���3!���" !  ��= ��& ��+ �%�����+ ���� !
������� �����" �3��������+& 	���*� �3����� J � ��"���"� j = 1, . . . ,m �3������"
*�* �3����� X S +���*� � ��"���"� j = m + 1, . . . , n i *�* �3����� Y S

∑m
1 pj = xS∑n

m+1 pj = yS x+ y = 1& r������+ �.�*��� F ��+ �3������ J S X � Y �3������" �����
���������� *�* FJ = F (p1, . . . , pn)S FX = F (p1, . . . , pm)S FY = F (pm+1, . . . , pn)& ��5��
������+ �.�*��+ F ���2�� �3������ ����.#$�"� ��������"�u

,T F ���2�� 3 �� ��%��� ���� ������������ pj v
0T F ���2�� %����"��� ���3���[�� �������� Fmax � ��" ��.���S *�5�� ��� �����

��� pj ���� S pj =
1
n v

4T FJ = FX + FY v
)T .��������� �������+ FX ���2�� %�������� * ����. FJ v
6T %�� ���! ���"�2� ! ��������! ���%��������+ pj � �3����� X �.�*��+ F

���2�� %����"��� ���3���[�� �������� � ��" ��.���S *�5�� ������� pj � �3�����
X ���� pX = x

m v
JT ���� ����+������ pj � �3����� X ���� pX = x

m S � � �3����� Y ���� pY =
y

(n−m) S �� �.�*��+ F ���2�� %����"��� ���3���[�� �������� ����*� %�� .������
pX = pY &

�& ������ n1o %�*����S ��� �.�*��+ /����%�� H = −
∑n

j=1 pj log pj �3������
��*�"� ��������"�u

i ��%��� ��� ������������ pjv
i ���� ��� pj ���� S pj = 1

n S �� H %����"��� ���3���[�� �������� � +��+���+
"�������� ��������#$�� �.�*���� �� nv

i ���� � 3�� ���%������+ �� ��� %������������� ! � 3���S �� H +��+���+ �����
[����� �.""�� z.����� !{ �������� H u ����

∑m
j=1 pj = xS

∑n
j=m+1 pj = yS x + y =

1S ��

H (p1 . . . pn) = H(x, y) + xH
(p1
x
, . . . ,

pm
x

)
+ yH

(
pm+1

y
, . . . ,

pn
y

)
. RUT

��*�" �3����"S �.�*��+ /����%�� H .���������+�� ���3�����+" ,p4 * �������
�.�*��� F & ��*�2�"S ��� ��� .���������+�� � ������� " ���3�����+"S �& �& "�2��
3 �� ��%��������� � *������� ������� �.�*��� ��+ �%��"������ ���%��������+ %��
��*�� ! .�����& ��� ����2���� ��"" 3.��" ��%��������� �3��������+S ������� �
� [� %�� �%��������� ���3������ * �.�*��� F &

T���� �� �� � \������� � ��������= �� �� �
�� �� J �������� � �� Q����U
����? �� � �= �
�� �� J �

� � * � � � � � � � � � � �& X ������������ � RUT /����%�# �3����� J "�2��
%���������� ����.#$�" �3����"u

HJ = HX +HY ,

5��

HX = H(x) + xH
(p1
x
, . . . ,

pm
x

)
, HY = H(y) + yH

(
pm+1

y
, . . . ,

pn
y

)
,

x =

m∑
j=1

pj, y =

n∑
j=m+1

pj,

m∑
j=1

(pj
x

)
= 1,

4q � %��&� �
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� 
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n∑
j=m+1

(
pj
y

)
= 1, H(x, y) = H(x) +H(y), H(x) = −x lnx, H(y) = −y ln y.

83������" z����[���.#{S ���S �����S .�����.#S /����%�# ��"����" H S ��5��
HJ %��"�� ���

HJ = H(x, y) + xHX + yHY . R,-T

r���� HX =H(p1, . . . , pm)=H
(
p1

x , . . . ,
pm

x

)
S HY =H(pm+1, . . . , pn)=H

(
pm+1

y , . . . , pn

y

)
&

��5�� ���� �������+ HX � .�����+! %����+����� ������� ! ������ .�������+ R,-T
����� * .��������# ������� HJ & �

����������& 7.�*��+ HX "�*��"����� � ��" ��.���S *�5�� �������+ pj � �3���
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